Sy cuatro fracciones, decimales, orden de operaciones
— con paréntesis

Nombre: Fecha: Puntuacion:
1 3 1 3
—+5(=+ =)= 2.5x15+-5+3(5,4—=) =

1 3 1
6(= +2,2)+3x4+4,8= Zx10+5-5(=+5)=
(4 9 ) M 2 (3 )

1 — =
5,3x10+5+3(; +2,5) = 4,6 —5(4,7+4,6)

3

2 2 3
154,88 — =) +5x2— == 12(2,8 — =) + + - =

1 -
4,6+2(5.6- 1) = (2,2+4,9)x5+2,9
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at-d Vad-

cuatro fracciones, decimales, orden de operaciones
con paréntesis

Nombre:

1 3 1
Z 452+ )=
2 (5 2) 6

6(%+2,2)+3><4+4,8= %:24%
5,3 % 10+5+3(%+2,5)= %: 19%
15(4,8—§)+5><2—§= % =24§
4,6+2(5,6—%)=212_57 = 15%

Fecha: Puntuacion:

3. 96 1
2,5x15+5+3(5,4— )= — =19
’ G, 2) 5 5

3 1 71 2
—x10+5=5(5+5)=(=)= (23
: (3+9)=C5)= (B

419 9
4, 6 - 5(4, 7+ 4, 6) = (_-E-) = (_41-1—0-)

3 3
122,88 — =) +3x 5+ =
(’ 4) 2

192 2
(2,2+4,9)X 5+2,9: —5-:38§
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